ELECTROMAGNETICS-1 FINAL EXAM

-Dr. Salih FADIL

—

E =4a_ + 651'_1; +3a, V/m, calculate E‘z .

August 17, 2012

#1) Consider the following figure. If electric field intensity vector in region 1 is given as
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#2) Consider the following figure. If the absolute potential at point P(0,0,a) is zero, express

P, in terms of Q.
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#3) The finite sheet 0<x<1, 0<y<l on the z=0 plane has a charge density

P =xy(x” +y° +25V7 nC/m’. Find:

a) The electric field intensity vector at {0, 0, 5)
b) The force experienced by -1 mC charge located at {0, 0, 5).

Good luck...©
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